WOODFORD COUNTY BOARD OF EDUCATION AGENDA ITEM

ITEM #: 1XA DATE: December 1, 2021
TOPIC/TITLE: Donations/Various Monetary Donations, Donated Items, and Services
PRESENTER: Ryan Asher
ORIGIN:
 □ TOPIC PRESENTED FOR INFORMATION ONLY (No board action required.) □ ACTION REQUESTED AT THIS MEETING □ ITEM IS ON THE CONSENT AGENDA FOR APPROVAL □ ACTION REQUESTED AT FUTURE MEETING: (DATE) □ BOARD REVIEW REQUIRED BY
□ STATE OR FEDERAL LAW OR REGULATION□ BOARD OF EDUCATION POLICY□ OTHER:
PREVIOUS REVIEW, DISCUSSION OR ACTION:
NO PREVIOUS BOARD REVIEW, DISCUSSION OR ACTIONPREVIOUS REVIEW OR ACTION
DATE: ACTION:
BACKGROUND INFORMATION:
Per Board policy - Donations must be pre-approved by the Board.
SUMMARY OF MAJOR ELEMENTS:
Request Board approval for the following schools/programs to accept donated items, monetary donations, or services from businesses/groups/organizations/individuals as listed below:
 Huntertown - Pumpkins from Eckerts valued at \$450 for Kindergarten and 1st Grades Huntertown - AR reward gifts valued at \$309.30 purchased by Huntertown PTO Huntertown - Snacks costing \$132.80 purchased by Huntertown PTO for Book Fair/Veterans Night WCMS - \$666.67 from KY FFA Foundation for WCMS Agri-Science Activity Account District Hall of Fame Donation - \$250.00 from Kain Ford District Backpack Club Donation - \$15,000 from Woodford County Masons Golf Account
IMPACT ON RESOURCES:
TIMETABLE FOR FURTHER REVIEW OR ACTION:
SUPERINTENDENT'S RECOMMENDATION: Recommended Not Recommended

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	Huntertown	RECEIPT# NIA	
School Address	:		
120 Woodburn	Hall Dr., Versailles, KY	Fiscal Year Ending: 20	022
School Federal	ID#	~	
Date of gift:	10/25/2021		
Donor Name:	Huntertown PTO		
Donor Address	: street address		
	street address (continued)		
<u> </u>	city state	zip code	
Donor Phone N	umber:		
Type of donation	on: (Circle one) Cash Check	Amount: \$450.00	
Other gift desci	ription including purpose & restrictions	on donation: Pumpkins donated by Eckerts for Kinderg	arten & 1st Grade
Was anything o	of value received in exchange for donation		
If yes, descripti	on and dollar value:		
Federal ID # (if	f applicable)	0	
Person accepting	ng departion	Principal Houser	
11/12/21 Date		11/12/21 Date	

*Form shall be filled out for all donations valued at \$250 or more

RECEIVED

NOV 1 5 2021

WOODFORD COUNTY BOARD OF EDUCATION



951 South Greenmount Road Belleville, II. 62220-4814 Phone (618) 233-0513 Fax (618) 235-8769 www.cckerts.com INVOICE 1082

Bill To:

Co Name Huntschaus RTO

Contact Nicki Gorea

Address 120 Woodban Hull Rd

Veraulle 184 40383

Phone 859 333 Stage

Quantity

Rem

Date

20

Amount

Quantity	item	€2	Amoun!	
150	Socky Amalias	3.00	450 00	
#1005-0771-08-45A-0-1-1-2A-0-10050-0-1				
			EURADOS BORTO, EDDIVO VOTOS E VENEZOS REVEDIDAS A COMERCACIO.	
	·			
			and an accommission review of a subsequent top of a subsequent top	

A SERROCE CHARGE OF THE PER MORTH WILL SE MADE ON ALL BALANCES TO DAYS ON OLDER

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	Huntertown	RECEIPT #	NIA	+
School Addres	ss:		,	
120 Woodbur	n Hall Dr., Versailles, KY	Fiscal Year l	Ending:	2022
		1		
School Federa	al ID#	1		
Date of gift:	10/28/2021			
Donor Name:	Huntertown PTO			
Donor Addres				
~	street address			
	street address (continued)			
	city state	zip code		
Donor Phone	Number:	1		
Type of donat	tion: (Circle one) Cash Chec	k Amount: \$309.30		
Other gift des	scription including purpose & restriction	ns on donation: AR Rewar	d Gifts purchas	ed from Kremer
Was anything	g of value received in exchange for dona	tion? Yes	NV	
If yes, descrip	otion and dollar value:			7
				4 .
Federal ID#				
Pelsonaccon	now Beck ting donation	Principal	ue hou	ser)
1 / 1	2/2/	11/22/	121	RECEIVED
Date *Form shall l:	pe filled out for all donations valued at:	Date \$250 or more	-	NOV 1 5 2021

WOODFORD COUNTY

Kremer Wholesale Inc. 520 Lagonda Avenue Lexington, KY 40505 859-255-3432

Invoice #: Page: 10/22/2021 124859

Ship To:

Huntertown Elem. PTO Versailles, Ky

Bill To:

Huntertown Elem. PTO

Phone. Cust PO:	Terms: QUOTE		Salesperso		
Reference	Ship Via:				An annual contract of the cont
Stock Code	Description	Taxable	Quantity	Price	Extended
192073025650	Rainbow Mini Slime Assortment (48ct)	Y	3.00	8.90	26.70
780984647018	Glitter Sticky Hands (72ct)	Y	3.00	8.90	26.70
PR-01	misc Mini Water Ball YoYo Assortment (50ct) - 5/1187	Y	2.00	20.60	41.20
PR-02	misc Maze Puzzle Pens (1dz) - 13596987	Y	6.00	8.90	53.40
PR-03	misc Light-Up Spin Tops (1dz) - 13621129	Y	4.00	17.90	71.60
PR-04	misc Emoji Sticky Splat Balls (1dz) - 13787322	Y	3.00	15.50	46.50
PR-05	misc Light-Up Funny Face Bouncy Ball Assortment (1dz) - 13716440	Y	2.00	21.60	43.20

 SubTotal:
 309 30

 Tax:
 0 00

 Shipping:
 0 00

 Total:
 309 30

 Paid:
 0 00

 Balance:
 309 30

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	Huntertown	RECEIPT# N/A	
School Add	ress:		
120 Woodbi	urn Hall Dr., Versailles, KY	Fiscal Year Ending:	2022
School Fede	eral ID#		
Date of gift:	11/8/2021		×
Donor Nam	e: Huntertown PTO		
Donor Addi	ress: street address street address (continued)		
Donor Phon	city state	zip code	
	nation: (Circle one) Cash Check	Amount: \$132.80 on donation: Snacks for 11/11 Book Fair/Ve	terans Night
g			
Was anythi	ng of value received in exchange for donation	on? Yes N	
If yes, descr	ription and dollar value:		
Elan	# (if applicable)	Elaine Kaiser)
///2/2 Date	the filled out for all donations valued at \$2	11/12/21 Date RE	CEIVED

*Form shall be filled out for all donations valued at \$250 or more

NOV 1 5 2021

WOODFORD COUNTY BOARD OF EDUCATION



Order Details

Order Number 108486974 Order Oate 107802021 Membership Number 111903315144

Payment Method
VISA value ending in 1713
Expens 0872

Shipping Address
Faye Clark
173 PEACHTREE RIS
VERSALLES, KY
40185-8127
5022523123

BRING ADDRESS
FREE CLARK
TYS PEACHTREE RO
VERSHALLES, KY
ACROLOGYZY

Total Price

8

Hospitals Cupitation and Tunders, Vendy, 52 count (liem #905458)
\$1,49

Order Summary

Subtotal (15 hims)

Shapping

2.035 Decision Fee

Earl

Order Total

\$132.80

\$2.4 20.5 5



WOODFORD COUNTY MIDDLE SCHOOL

100 School House Road • Versailles, Kentucky 40383-9214 PHONE (859) 879-4650 • FAX (859) 873-4436

Liz Kirk, Principal Susan Tracy, Assistant Principal / A.D. Joe Albert, Dean of Students

November 4, 2021

Mr. Danny Adkins, Superintendent Woodford County Schools 330 Pisgah Pike Versailles, KY 40383

Mr. Adkins,

Please accept the following donation received by Woodford County Middle School. Generous donations are extremely important to us and help with the expenses of our school.

KY FFA FOUNDATION - \$666.67 - WCMS Agri-Science Activity Account

Thank you for your consideration of this request.

E. Kirk

Liz Kirk Principal

RECEIVED

NOV 5 2021

WOODFORD COUNTY BOARD OF EDUCATION

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUNTY MII	DDLE SCHOOL	RECEIPT	20678	
School Addres	ss: 100 SCHOOLHOUSE RD				
	VERSAILLES, KY 40383		Fiscal Year	Ending: 2021	
C. LE.	110 " (1 (001277				
School Federa	al ID# 61-6001372				
Date of gift:	10/29/2021				
Donor Name:	KY FFA FOUNDATIO	N, INC.			
Donor Addres	se PO ROY 8				
Donor Addres	street address				
	stunct address (continue				
	street address (continue				
	FLEMINGSBURG city	KY state	41041 zip code		
Type of donat	tion: (Circle one) Cas	sh Check	Amount: \$666.67	Other	
	scription including purpos I-CIENCE SCHOOL AC				
Was anything	g of value received in exch	ange for donation	? Yes	No X	
If yes, descrip	otion and dollar value:			-	
Federal ID#	(if applicable)				
Sara	Moutin	<u> </u>	{	1 Kinh	
Person accept			Principal		
10.29	7) 1			04-31	

^{*}Form shall be filled out for all donations valued at \$250 or more

DATE

AMOUNT

VENDOR

COMMENTS

11/10/2021

15,000.00 WOODFORD COUNTY MASONS GOLF ACCOUNT

BACKPACK CLUB DONATIONS

DATE AMOUNT VENDOR COMMENTS

11/29/2021 250.00 KAIN FORD HALL OF FAME DONATIONS